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I-II LgdguE®o. 2020-2021 (I 3mEOLo)
(333600 953m3ol 60dmdo)
Question 1

QUMM obdsMBHGds: 3069053030L doMOMIE 5dM3IBIL FomdmoAqbL ----

Select one:
a. bLbgueol 905500a0egd0l dqlfoges
b. Lbgreol 3md®smdol dgLfogems
C. bbgmaol 8¢ogdstmgmdols gsblsbmg®ms LogmEgdo Mmool bgdoldog® dmdgbddo
d. bbgmaol 35005030 gd0lL gsblsbOgMs OHMOL 63doldog® dmdgbEdo
Question 2
F900560&05 019 33M0:
#06OB030 3dM™md0L BoBRJsMOL LoOY OOL dsbdoerols Fomdmgdels
©OH®O”".
Select one:
True
False

Question 3

MoEbgo0 3609369mdgdL dgmliadsdgor Lo@GY309M0 LLEHY9d9dO:

107 896560 Anewer 1] So0se- -]
107" 8960 A nawer 2] To0se- -
107 89660 Anewer 3] Co0se- -]
107% 89660 A nawer 4] Goose- B
107 89660 Anewer 5 Co0se- ]
1072 89560 Anewer 6 So0se- -]
10% 89660 pnewer 7] Co0se- B

Question 4
39979150599 BH6300 IMIMSMBOL OHML [HgHEHOOL FobsLOsMYdYJWO
fo®omo Loowggdo (5 V: br) 3mmby® Loo)gdL:

S Answer 1| Choose- El

U Answer 2| Croose- -~



http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10%5E%7B-9%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10%5E%7B-12%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10%5E%7B-3%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10%5E%7B-6%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10%5E%7B-1%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10%5E%7B-2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=10%5E3
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=s%2Cv%2Ca_%5Ctau
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=s
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=v
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T Answer 3| Choose |
Question 5

3999058900 IOOFOMOIO FMIOSMBOL ITIHLSMYdJE 30DOIME
LOOYJOL BHMS9IBHMOOOL IM3gd FoMEowdo d0TsOHMNIgdgdO:

29ROV Answer 1| Choose... M
LoBRJo6 Answer 2| Choose... -
$96396305)G0 BFsGr0 A L var 3| Choose... -]
BoaiBor®ro sBJo@gds A civar 4| Choose... |
Question 6

3sLoms 5OEHMOMBOL 30063030l Mobsbdo, MHMIgeos LMmMO Ao6ToME9ds:
Select one:

a. bLbgmamms Lobi@gdol dsbs Gmaos dsligdol xsdols

b. Lbgmems LobEgdol dsbs gEos 3e39me bbgrems doligdol xs9%

C. bLbgmmoms LolEgdol dsbs Gmeos 3939w Lbgrenms dalgdol xsdols

d. bbgmaoms bobBgdol dsbs Bagengdos o 3gme bbgmamoms dslgdol xsdby

Question 7

1300379600 LoEOEY, MMIgEog FoMmdmowygbl Lbgwmwols obgMiEomwo s
305303930990 M30l90900L DmAsls SO :

Select one:
a. LoBdoty
b. asbo

C. fmbs

d. dogs

Question 8

G390 BOOINWOoOHYDS FoOHIMIIBL boEmbol 30639 356mbL (8mbodbgo
2 3sLbbo):

Select one or more:

a. o) F= U, 35806 V' = const
b. oy F' = 0, 85806 @ 7 0

—

C. m‘gF: U, 85906 @ = ()
d.oal;jj:?'E 0,80’606&-‘: 0


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=a_%5Ctau
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BF%7D%3D0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BV%7D%3Dconst
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BF%7D%3D0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Ba%7D%5Cne0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BF%7D%3D0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Ba%7D%3D0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BF%7D%5Cne0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Ba%7D%3D0
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Question 9

QLMW gobdsMBHgds: bgdoldogMmo mGo M1 s M2 dsbol Lbgremols
396M399m 5OLYOMBL FoBJOH0sMMO 456M9dM, LosE 3L 0BgbL doBoMEPMdOL
doeqdol 8mddgegds. 58 35BHIM0SO 2oM9gdmb 9fmgds ----- .

Select one:

a. 9@IIOOVWo 39wo

b. 9egd@&®™bEIG03O0 ggewo
C. 35360¢mHO 39@o

d. 36530¢300@o 3o
Question 10

F900560@05 0019 336MO:

#0050l bobmbols dogrs ymzgemmgols 30856mveos dmd@omdols
Lofobosmdaam© ©s 0f393L bbb GoMEMdomOo LoBJsHOL F9d50M9dL" .

Select one:
True
False

Question 11

9399w o BMOIMEgd0sb, HMIgEro 459mbobsgl AbmBEom B0BOoEMdOL
396mBL (G 560b 365305300 dwdogs, M - ©gsdoffols dolss):

Select one: ,
a b= G%
o F' =GR
F= ij?_;f
a b= G%
Question 12

M™39w05 LOIIWH3MOL YOG IO (ST) IONJMNS BogMmsdmOHOLM
LobGHgdsdo?

Select one:
a. XMgeo

b. 35¢0

C. 960

d. bon@pmbo
€. obo


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m_1
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=m_2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=G
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=M
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F%3DG%5Cfrac%7BR%5E2%7D%7BM%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F%3DG%5Cfrac%7BMm%7D%7BR%5E2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F%3DG%5Cfrac%7BR%5E2%7D%7BmM%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=F%3DG%5Cfrac%7BM%7D%7BR%5E2%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%28SI%29%7D
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Question 13

F 35000l 8096 5 g50550300905%9 G9L6¢mangdeeo 8218508 gs8momgegds
3MOHINO !

Select ong:
a. A= =

o dA = (F - d3)
c.A=F - -dv

4. A= Ft
Question 14

35396005 ® HodEGHoms LobGHgdol (8945603mM0 LobEBgdol) 96905 SGOL
LoLEYIoL (Imbodbgm 2 35Lwgbo):

Select one or more:

a. 0MdsMmgmdols B3Mbdis0s

b. 3md®omdol Mom©gbmd®0g0 BMds
C. 3M3sMmgMdol Bmds

d. 39650 gdol B3mbzos

Question 15
9539605 Mo 9O EHowol 0332)mlols dmdgbEol

[= [F- 1«?}

399mbsmzmge 3mEOHIMEsdo ; 0915058900 BoBOIMO LOWOYJOL

Qsbobgegdqd0:
K Answer 1] Creose.- =l
L answer 2| Coese- =l

7 Answer 3| Choose- =
Question 16

dgo6m0 Lbgmeolb 450s39bomo ImdMHomdols ML bbgmewols yzgws Fgd@&owols:

Select one:

a. boBdoMg s 9BJo0gds bbgoslibgoas
b. LoBdstg bbgswalbgss

C. boBdsMg s BJs09gds ghmbsoMos
d. 5BdoM9ds Lbga@alibgos


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BF%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7Bs%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%3D%5Cfrac%7BF%7D%7Bs%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=dA%3D%28%5Cvec%7BF%7D%5Ccdot%20d%5Cvec%7Bs%7D%29
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=A%3D%7BF%7D%5Ccdot%7Bdv%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%7BA%7D%3D%7BF%7D%5Cvec%7Bv%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20L%3D%5Cleft%20%5B%5Cvec%20r%5Ccdot%5Cvec%20K%5Cright%20%5D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20K
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20L
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cvec%20r
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Question 17

®b30m0 3MIMIOL oTobLOMGIJ0 LOWOWYIB0S (dMbodbgm 3 3sbvybo):

Select one or more:
a. 0d39wbo

b. 3g®omo

C. 503wo@Gd

d. Lobdoty

e. dsLs

Question 18

®bg30L 3gMom©o T FGHmeos:
Select one:

T=2
a.

iy

. I =52

o

T — wo

C. 2
d. T = 27wy

Question 19
4m39e0 39600mEweo (MGHY30000) 3OMEILOL Fo3MEIEgdl LogMEgdo
3963397900 LoBdsmoom gfimegds:

Select one:

a. oo

b. 8mdGomds

C. ®bggzs

d. 25055030¢gds

Question 20

MO0 GOIWOS Mol 3m39M96E Mo, mv) (3mbodbgom 2 3sbvgbo) :
Select one or more:

a. BHOwEYd0 56 5MHOL dMbmdHMIsE o

b. &segdol LobJomy 5 SGOL EHmeo

C. $Howgd0 dmbmdOmMBs@veos s LobdoMmggdo GHmeo

d. &owogdol gsbsms Bbgsmds ©sIM30 dvIm0s OHMDY

€. BHow9gdol Gsboms BHZsMds 56 SMHOL BMI0WYdIMO MHMBY


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T%3D%5Cfrac%7B2%5Cpi%7D%7B%5Comega_0%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T%3D%5Cfrac%7B%5Comega_0%7D%7B2%5Cpi%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T%3D%5Cfrac%7B%5Comega_0%7D2
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=T%3D2%5Cpi%5Comega_0
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Question 21
QLOMEgm 296 EJdS: 0@JOITMMO 5060 9)HMEIds S0ML, BTl Jmeg3Egdo
3obobogds, MHmameE 60300096M0 F9OEH0Wgdo, GMmIgems dmMob MO0 Mm]dggds ---

Select one:

a. 2399 G0GIYMBO0S, X B0l dmdgb@ol oM
b. 30603se0wy@os

C. 35JL035¢E M0, XYoL IMI9BEOL JoMS

d. 85Jb0dseMEGos

Question 22
3956mB0go M 3sLoL 0EJSYOO S0MOL IEYMTMIMOOL Jobolbosmgdgero 3
396539GHM0L 9OHMIOMDS !

Select one:

a. P (6935, V 9m3cmmds, T sdLme@eemo $gddgmo@ems
b. @ BJom9gds, T sdbmeyEBMGo #9d39Mod @, P §6935
C. V dmgnmemds, P (6939, a SBgotgdo

d. U LoBgstrg, @ sBdsrgds, P §b9g0

Question 23

QLMW obFsMFHGds: 9egdBHOMLESGH03MMO 390 9himgds
39, MmdgeoE ----- :

Select one:
a. 99Jdbogros MdMsz30 gugdBHeeo dmbEoom
b. 56LgdMBL BsgboEH MO OLIGOL FoG9dm

C. 99986005 3md6m530 9egd@eO Mo dmbdom
d. 56bgdMdL gegd@B®weo ©gbol go®dgdm

Question 24

3980500305 9] 33000 "oBmEo®gdeer LolEgdsdo ©sdbEMEo
Boffognszgdo Hoedmoddbgds fyzow-fyzomos LoEOOm Mo S
Lo3oMoL3oMM 6odbol IMbEgdom, 96 MmMo LsdoMoldo®mm 6odbol dMbEo 0dizg3s
690@®5me bsfioenszs@ oy, G LolEgdol LOHmwo dMbEHo 5O 0EgEgds."
Select one:

True

False


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%5Cvec%7Ba%7D%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%5Cvec%7Ba%7D%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%5Cvec%7Bv%7D%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%7B%5Cvec%7Ba%7D%7D
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Question 25
LMD 29635OFJDS: 356FBMMGdIM0 (35635¢393909e0) 458ESGOL

9099 BHOMGH9350Mds HoEbMIM035© ML gergd@cmeo dMb@ol 0d
50©96Mdsls, H®MIgeoi by 303560FMmm 25d@sML, @A dobo ----- .

Select one:

a. ©5d50EMds d9930MHEIL

b. ©53d53@@mds 4o0BoMEOML

C. 9696305 890335 Ml JHMO JHOYIO

d. 30396050 B90335@™l 96O JHMYIOn

Question 26

©9bob doers 9hHmgds BoHo3MM LooIL, MMIGEoE COEHMIMO35© MO
----- 393000 99JGMMBOL MHoM©IbmdOL.

Select one:

a. §Mgool dsbdo

b. @®MoL gHMgmedo 49EHsM0oL gsbo3339m380

c. fi®gwdo

d. 2993560bL 35603339080

Question 27

0339 {M9500Bg 056506Mo@ ImIMs30 Lbgol (3963 ®0l39bmwo sBdscgds,
o) 030 IndMmdL V=33/{d LoRJs®om, R=2003. Hsombol FGMgHombg. (
39380 Bsfigmgom dbmermE Mogbgo. dsy:1.2 ).

Answer:|

Question 28

03390 Lbgmbg dmgdgo dosgrol dmdgb@o, mv dsbby dmddgwo

dogns F=176, bmewm dogools dbsto 1=19. ( ggerdo Bsfigdgo dbowmo Goisbgo
395L9oL LobMLEHom, dog: 1.23 ).

Answer:|

Question 29

0MAYI0 GO 3M(39Y0s X - 0¥9Mdol Y00 J0TsMMMIGI0.
AOEOL 356EMEgdsl 593L 99390 Lobg s=12cos(4047t-0.57x),
296L5BE3MID BHowrol Loa®dg (39edo BsfgMgo dbmem Mogbgo, 3s5y.
1.23):

Answer:|


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cpi
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=%5Cpi

Question 30

03Mm390 JOMoBHMB0560 0o MHO S0MOL BHnd3gMo¢es (39e306993d0), vy
dobo 25IEHB0M0 FMIOMBdOL Lsdmsm 306930310 gbgMaool Loogs
450Kk, bssg K o®ob dmendsbol dwdogs (39edo Bsfigdgo dbmerme
®ogbgo, dop. 1.23):

Answer:|

Question 31
P=1535U35¢0 {6930L @™L 5060l dmEgyermds 10 3 -sb 15 93-0¢g

29005MEs. 033900 S0MOL FoBIOMMYBsBY gL gdweo ImBomds. ( 39wdo
Bofig®gom dbmermo Gogbgo 39smgol LoBMLE0m. dog: 1.2 ).

Answer:|

Question 32

256LoBP3MHgM JOMAZ5OMZ560 9E9dBHOMBE)SE03MOO
390L odsdMMds, M¥) 39¢ol dseHoMgool aolfi3eog
M6 H9O G0l dmcmols 3m@E9b3oswms Lbgomdols Loogs
0.07 3. §96E0gdlL dm®ol dsbdogros 2 LA (3sLwybo
BoPgMgom 39wdo, dsy. 1,234).

Answer:|

Question 33

0339m dmnge i6M9do 3sdmymaomo Loddwsgzmg mv ot MHgoolb Hobswmds
25 305, beagoe 35035 §ysemb 8mdFgmgdbg 173. HMHgol dogs Fobosmmdss
2m30. (3980 BsKg®gm Fbmemo Gosbgo 895690l LobmbGom, dog: 1.23).

Answer:|



